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1. Suppose you have a sequential election with the candidate sequence (E,X,A,M). Suppose E
wins the election without tying. Is there a Condorcet candidate?

No

@ Not enough information

2. Explain. (optional)
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3. Suppose you have a sequential election with the candidate sequence (E,X,A,M). Suppose A
wins the election without tying. Which of the following are definitely true? Mark all that apply.

@ A is a Condorcet candidate

A is unanimously preferred to E and X
@ A beats X head-to-head

( @ﬂeats M head-to-h@

@ A is a Dictator

@ A has at least two pairwise comparison @

4. Explain. (optional)
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5. For this election, find the primitive dominating set Dg.
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6. Who wins by plurality?
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7. Who wins by Borda? (you should be able to answer

@%ﬂ\out having to compute all the Borda points.) X 30 X 32 X 32
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8. For the Borda election: whether or not you calculated Borda points, explain how you can find
the winner (or check that your answer is reasonable) without crunching the numbers.
(optional)
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9. Who wins by elimination?
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10. Who wins by runoff?
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1. Who wins by Coombs?
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One math reminder.

« If there is no tiebreaker specified, you shouldn’t need to assume one on this test. It's OK to
have multiple winners, or multiple people eliminated at the same time.
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12. In the same election, is it true that Di>B? (where the

symbol denotes beatpath elimination) X 30 X 32 X 32
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13. A Condorcet candidate can never be a spoiler in a Condorcet-fair system.

@ False

14. Explain. (optional)
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15. Consider the following election method, called “Dictatorship with Veto” or DWV: The winner is
the first choice of voter #1, except if that candidate is also the last choice of voter #3. In that
case, go to the next choice of voter #1.

This system is Pareto-efficient and single-winner. Which one of the following is true?

@ Voter #1 can vote strategically.
Voter #2 can vote strategically.

@Vcter #3 can vote strategically. e VORG Vo VR YD S

@ The system is strategy-proof, by one of the Impossibility Theorems.

16. Explain. (optional)
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17. Which of these systems are unanimity-fair? (Don't rely on memory—you can work these out
in_real time!) Mark all that apply.

@ Plurality
Secondality
@ Borda

@ Dictatorship

18. Explain. (optional)
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